o1 wqrofr HiE0r OT SEEYERET 3 FT AR

A @ e FYor
X2 g wr

X 3 grdrer grofr 2or
X 4 AT Aed FIOT

Question Type :
Question 1D
Option 11D ¢
Option 21D :
Option 3 1D :
Option 4 1D :

Status
Chosen Option :
Marks ;

MCcQ
630680304859
6306801185986
6306801185988
6306801185985
6306801185987
Answered

1

2

Ve HEATEE HAT T A T THT HNBT.

X g
X 2 qraTeT
X e
v ey

Question Type
Question 1D,
Option 11D ;
Option 2 10
Option 3 10 ;
Option 4 1D :

Status :

Chosen Option :

Marks

McQ
630680304844
6306801185928
6306801185925
6306801185926
6306801185927
Answered

2

o

O3 T gT, e B T A AT FS B
Ans o1 WTYT HdSIS

X2 gryr HiTsTFS

X3 FTUT TEAAHID

X 4 YUY TEAFIS

Question Type :
Question ID
Option 11D
Option 2 10
Option 3 1D
Option 4 1D ;

Status

Chosen Option ;

Marks :

MCQ
630680304845
6306801185931
6306801185932
6306801185930
6306801185929
Answered

4

1]
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W omTor @ 9fieg FEAls FEE AT IRE?
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v fFame T

X3 FATACE THIS

X4 T W JAEHT

Question Type ;

Question 1D

Option 110 :
Option 21D

Option 3 1D

Option 4 1D
Status .
Chosen Option :
Marks :

MCQ

. 630680304865
6306801186011
6306801186010
. 6306801186012
6306801186009
Answered

2

2

P gD TR 3EE e e
™ 1 s
= St

v & airquTaT

Question Type : MCQ

Question 1D,
Option 110
Option 2 10
Option 3 1D
Option 4 1D :
Status :
Chosen Option :
Marks

630680304846
6306801185933
6306801185936
6306801185935
6306801185934
Answered

1

[}

W e PO FAURT TRTET 3TEI0T A2
X1 e
x> ofad

X5 3T
v HEFERR

Question Type :
Question ID
Option 110 ;
Option 21D
Option 310 ;
Option 4 10 ;

Status
Chosen Option ;

MCQ
630680304856
6306801185976
6306801185974
6306801185973
6306801185975
Answered

4

Marks : 2
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Question Type : MCQ
Question 1D . 630680304863
Option 1 1D : 6306801186002
Option 2 1D : 6306801186004
Option 2 1D : 6306801186003
Option 4 1D ; 6306801186001
Status ;| Answered
Chosen Option : 1
Marks ;0
o ReeTr TETT AT STFESERTET S9ART F-
TIA HEHATFS gshw Fears ar FHER HTANT 9= g
v e R
X2 gerg Ror
X3 3T Uor
X 4 grg @ror

Question Type : MCQ
Question 1D : 630680304862
Option 1 1D : 6306801185997
Option 2 1D : 6306801186000
Option 3 1D : 6306801185999
Option 4 1D : 6306801185998
Status ; Answered
Chosen Option ; 2
Marks : 0
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9wy T eregrar WA g MiEEr.

Ans *
R cor
7 Geal
X3 gar
24 dqelT
Question Type ; MCQ
Question 1D ; 630680304851
Option 1 1D : 6306801185953
Option 2 1D : 6306801185956
Option 3 1D : 6306801185954
Option 4 1D : 6306801185955
Status : Answered
Chosen Option : 2
Marks : 2
Q.10
“SiegT A ST IR AT TER AF PI0T Hg?
Ans X T AsTHE
X2 o BT
& 3 &dr 949
Question Type ; MCQ
Question 1D 630680304866
Option 110 6306801186015
Option 210 : 6306801186014
Option 3 1D ; 6306801186013
Option 4 1D ; 6306801186016
Status : Answered
Chasen Option : 2
Marks : 0
Q.11
‘R T ereErar ARy faveenedt ey si@E
ol S
v e
X3 g
X4 frsFrESr
Question Type : MCQ
Question ID : 630680304854
Option 1 1D : 6306801185965
Option 2 1D : 6306801185966
Option 3 1D ; 6306801185967
Option 4 1D ; 6306801185968
Status ;| Answered
Chosen Option ; 2

Marks ;

2
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12 e a7 rearET et e e
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< 2 delcd
X3 9%
X4 odEs
Question Type : MCQ
Question 1D ; 630680304853
Option 1 1D ; 6306801185964
Option 2 1D : 6306801185962
Option 3 1D : 6306801185963
Option 4 1D : 6306801185961
Status : Answered
Chasen Option : 2
Marks : 0
Q.13
“TehY” TT ACTHIS, HATATY 2reg ST,
Ans 1 m
X 2 H9ATA
X3 3T
X 4 HHATA
Question Type : MCQ
Question D : 630680304850
Option 110 ; 6306801185949
Option 2 1D ; 6306801185950
Option 3 1D ; 6306801185951
Option 4 1D 6306801185952
Status ; Answered
Chosen Option ; 4
Marks : 0
Q.14
“Ore” T AT Efﬁmr e st
Ans
X1 QT qrofy AUTRT FreraEr
X2 fudsr fEaE
X3 gHIOET 9
¢ 4 o= METT
Question Type : MCQ
Question ID ; 630680304864
Option 1 10 : 6306801186006
Option 2 1D : 6306801186007
Option 3 1D : 6306801186005
Option 4 1D : 6306801186008
Status ; Answered
Chosen Option ; 4

Marks :

2
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Question Type
Question 1D ;
Option 110 :
Option 21D :
Option 3 1D
Option 4 1D

Status :

Chosen Option :

Marks ;

MCQ
630680304849
6306801185947
6306801185948
6306801185945
6306801185946
Answered

4

2

Q.16 “gr=rit dUT FEUE FH 7 FIA G AW YITOT WA T IS AT FEEIER HEw

ANt X 1. @I T FTIOT
¢ 2 FETEr =12 Ar=iaor
xa.'-;mzm

X 4 SErr 3eEre gror

Question Type ;
Question 1D
Option 11D ;
Option 21D
Option 31D ;
Option 4 1D ;

Status :

Chosen Option :

Marks :

McaQ
630680304860
6306801185991
6306801185990
6306801185989
6306801185992
Answered

2

2

OV RATEER OF TEd HI0T g 7Y HHA FguT e,

Ans X1 &g 3y =gmer For A7
v diE I g AR GIOT.
X 3 TR 919 AECUETES a9 AT A
X4 T 9SeT A 319 AT Seler a Fr

Question Type
Question 1D
Option 11D :
Option 210 ;
Option 3 1D ;
Option 4 1D ;

Status

Chosen Option ;

Marks :

McQ
630680304858
6306801185982
6306801185983
6306801185981
6306801185984
Answered

2

2
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Ans

v HTeEE AR
X2 FUIS gBar
X 3 Rrarsh \@rEg
Question Type : MCQ
Question 1D : 630680304867
Option 11D : 6306801186017
Option 2 1D : 6306801186020
Option 3 1D : 6306801186018
Option 4 1D : 6306801186019
Status : Answered
Chosen Option ; 1
Marks : 2
Q.19 :
“TUTHIGT 8T WTHATHS Mg HIUTedT FHTATT ST H@?
A XL FeTATEHdr FATH
v 2 Ffous g@eg TAH
X 3 HER gded WA
< 4 sai’a’.r W hap=ipeg
Question Type : MCQ
Question 1D : 630680304855
Option 11D ; 6306801185972
Option 2 1D ; 6306801185970
Option 3 1D : 6306801185971
Option 4 1D : 6306801185969
Status : Answered
Chosen Option : 2
Marks : 2
Q.20
“siger erearer faveenft ereg afe.
Ans o1 HaS
X2 g
X 3. g gor
X4 FAddch
Question Type : MCQ
Question 1D | 630680304852
Option 1 1D ; 6306801185957
Option 2 1D ; 6306801185959
Option 3 1D ; 6306801185958
Option 4 1D ; 6306801185960
Status ;: Answered
Chosen Option ; 1
Marks : 2
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Question Type

Question 1D
Option 11D

Option 2 1D :
Option 3 1D :

Option 4 1D

Status :
4t
Marks ;

Chosen Option

MCQ

: 630680304857

. 6306801185977
6306801185979
6306801185980
. 6306801185978
Answered

1]

V2 yred) WS wET 334r

T IFATET FEATHTET GHIT HIOTET ?
e X gady wER
X 2 gomTdF HaATH
X3 QAT FIAH a1 wfafeas gdaA
v 4 RETEH HAATH

Question Type ;
Question 1D ;
Option 11D ¢
Option 21D :
Option 3 1D
Option 4 10

Status
Chosen Option :
Marks ;

MCQ
630680304843
6306801185923
6306801185922
6306801185924
6306801185921
Answered

3

0

Q.23 g-mrEn wEw T8 SEE GO N9e A0E SEEdT @ AT SEaarEy ST6e &4

Ans X 1. ZqeTT oY
2 IFTST HISoT
X3 FHETH O

X4 H{TE FHOr

Question Type :
Question ID
Option 110 ;
Option 21D ;
Option 3 1D ;
Option 4 10 ;

Status

Chosen Option :

Marks !

mca
630680304861
6306801185995
6306801185994
6306801185993
6306801185996
Answered

2

2
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X3 e
X4 w7l FAoh
Question Type : MCQ
Question ID | 630680304848
Option 1 10 : 6306801185942
Option 2 1D : 6306801185941
Option 3 1D : 6306801185943
Option 4 1D ; 6306801185944
Status ; Answered
Chosen Option ; 2
Marks ; 2
Q.25 *
Reee o1 e feE e
Ans
v RBg + 3=
X2 RF + HEg
X3 g + 3=
X4 e + JEe
Question Type : MCQ
Question 1D ; 630680304847
Option 110 : 6306801185937
Option 2 1D : 6306801185938
Option 3 1D : 6306801185939
Option 4 1D : 6306801185940
Status : Answered
Chosen Option : 1
Marks : 2
Section : English Language
Q.1 Select the most appropriate ANTONYM of the underlined word.
Due to property issues, there is animosity among his sons.
Ans X 1. Fatality
o 2. Amity
25 3. Tenacity
75 4. Enmity
Question Type ; MCQ
Question D ; 630680280655
Option 1 1D : 6306801090858
Option 2 10 ; 6306801090855
Option 3 1D ; 6306801090857
Option 4 1D ; 6306801090856
Status | Answered
Chosen Option : 2
Marks : 2
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Q.2 Select the option with the correct spelling to replace the underlined word in the given
sentence.

The registration fee includes hotel acommodation, meals and a kit.
Ans & 1. accommaodation
2 2. accoomodation
25 3. accomodation

7% 4. acoomaodation

Question Type ;
Question ID
Option 11D :
Option 21D
Option 3 1D :
Option 4 1D

Status !

Chosen Option :

Marks ;

McQ
630680252301
630680979184
630680979185
630680979183
630680979186
Answered

3

0

Q.3 Select the correctly spelt word to fill in the blank.

His steady gaze led herto ______

Ans X 1.embarasment
o 2 embarrassment
7% 3. embarassment

X 4. embarrasment

Question Type :
Question ID
Option 110
Option 210 ;
Option 3 1D ;
Option 4 1D

Status

Chaosen Option :

Marks |

MCQ
630680274416
6306801066178
6306801066176
6306801066175
6306801066177
Answered

2

2

0.4 Select the most appropriate option to fill in the blank.

| was astounded to learn that my American husband speaks Japanese _______ well.
X 1.also
25 2. enough
o 5. quite
2 4. much

Ans

Question Type :
Question D
Option 110 :
Option 21D :
Option 3 1D
Option 4 1D

Status |
Chosen Option
Marks :

MCQ
630680252975
630680981881
630680981880
630680981882
630680981879
Answered

3

2
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Q.5 Select the most appropriate synonym of the given word.

Ans

Decay
X 1. Desecrate
o 2 Deteriorate
7% 3. Discriminate
% 4. Derogate

Question Type :
Question 1D ;
Option 11D
Option 21D :
Option 3 1D :
Option 4 1D ¢

Status !

Chosen Option :

Marks :

MCQ
630680252318
630680979253
630680979251
630680979254
630680979252
Answered

2

2

Q.6 Select the most appropriate punctuation mark to fill in the blank.

Ans

Hope for the best
7% 1.1 (exclamation mark)

X 2.7 (question mark)
& 3., (semicolon)
25 4." (apostrophe)

prepare for the worst.

Question Type :
Question 1D
Option 11D
Option 21D ;
Option 31D
Option 4 10

Status |

Chosen Option

Marks ;

McQ
630680278246
6306801081342
6306801081341
6306801081344
6306801081343
Answered

3

2

Q.7 Select the most appropriate meaning of the given proverb.

Ans

Beggars can't be choosers.

" 1. Individuals who rely on external sources for their needs must learn to be satisfied

with the resources provided to them,

X 2. Individuals wha rely on external sources for their needs must learn to be dissatisfied

with the resources provided to them.

2% 3. Individuals wha rely on external sources for their needs must learn to get more than

the resources provided to them.

25 4. Individuals who rely on internal sources for their needs must learn to be satisfied with

the resources provided to them.

Question Type :
Question 1D
Option 110;
Option 21D :
Option 3 1D :
Option 4 10 ;
Status
Chosen Option ;
Marks

McQ
630680274511
6306801066557
6306801066558
6306801066556
6306801066555
Answered

1

2
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0.8 Select the most appropriate past tense form of the verb 'award’ to fill in the blank.

The toppers of every batch were
Ans X 1.been awarded

scholarships.

2% 2. awarding
" 3. awarded

75 4. ought to be awarding

Question Type ;
Questian ID
Option 110 ;
Option 210 ;
Option 3 1D ¢
Option 4 1D

. Answered

Chosen Option ¢

Marks

Status

MCcQ
630680280640
6306801090797
6306801090795
6306801090796
6306801090798

1
0

Q.9 The given sentence has an error, Select the option that rectifies the error.
‘What do you do there?” 'l am practising for the concert.

Ans X 1.1 will be practising
25 2 What did you do
& 3. What are you daing

X 4 | was practising

Question Type :
Question ID
Option 11D :
Option 2 1D :

: 6306801081376

Option 4 1D ;

Option 3 1D

Status

MCQ
630680278254
6306801081375
6306801081374

6306801081373

: Answered
Chosen Option ;
Marks ;

3
2

Q.10 Select the most appropriate option to fill in the blanks.

bus that Hima boards everyday is
Ans o 1. the; the

X 2. a;the
X 3aa
X 4.the;a

bus Rajesh boards too.

Question Type ;
Question ID
Option 11D
Option 2 10 ¢
Option 3 1D
Option 4 1D :

. Answered

Chosen Option :

Marks

Status

MCQ
630680274457
6306801066340
6306801066341
6306801066339
6306801066342

1
2
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Q.11 Select the option that expresses the given sentence in passive voice.

The team of programmers developed the software.
Ans X 1. The software were being developed by the team of programmers.

" 2 The software was developed by the team of programmers
7% 3. The software has been developed by the team of programmers.

2% 4. The software was developed by the programmers

Marks

Question Type :
Question 1D ;
Option 11D
Option 21D :
Option 3 1D :
Option 4 1D ¢

Status !

Chosen Option :

‘0

MCQ
630680274533
6306801066645
6306801066644
6306801066646
6306801066643
Answered

1

Q.12 Select the most appropriate preposition to fill in the blank.

Terrorists broke ______ the Parliament house a few years back.
Ans X 1.down

X 2 out
X 3.up
& 4 into

Question Type :
Question ID
Option 110 ;
Option 21D ;
Option 31D ;
Option 4 10 ;

Status

Chosen Option ;

Marks :

MCQ
630680274403
6306801066126
6306801066124
6306801066123
6306801066125
Answered

1

1]

Q.13 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The chicken is believe / to have descended from / the wild Indian and south-east Asian Red
Junglefowl / which is biclogically classified as the same species.

Ans X 1. to have descended from
25 2. which is biologically classified as the same species
25 3. the wild Indian and south-east Asian Red Junglefowl

o 4. The chicken is beliave

Option 3 1D

Question Type !
Question 1D
Option 11D :
Option 210 :

. 6306801066301

Option 4 1D ;
Status ;
Chosen Option ;
Marks ;

MCQ
630680274447
6306801066300
6306801066302

6306801066299
Answered

4

&
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Q.14 Select the most appropriate meaning of the given idiom.

By the skin of your teeth
Ans X 1. Inability

o 2 Just barely

75 3. Very easily

X 4. Perfectly
Question Type : MCQ
Question ID ; 630680274494
Option 1 1D ; 6306801066487
Option 2 1D : 6306801066490
Option 3 1D : 6306801066488
Option 4 1D : 6306801066489
Status : Answered
Chosen Option : 3
Marks : 0
Q.15 Select the most appropriate option to fill in the blanks.
flowers bloom only in maonth of May.
Ans o 1. the the
X 2 the;an
> 3.a)the
> 4. thea
Question Type : MCQ
Question |D : 630680274454
Option 1 1D ; 6306801066327
Option 2 1D ; 6306801066330
Option 3 1D ; 6306801066328
Option 4 1D ; 6306801066329
Status : Answered
Chosen Option ; 4
Marks : 0
Q.16 Select the most appropriate question tag to fill in the blank.
Today, we see that people have become health conscious,
Ans o 1. haven't they?
25 2. have they?
25 3. do they?
25 4. hadn't they?
Question Type ; MCQ
Question 1D : 630680274358
Option 11D : 6306801065943
Option 2 1D : 6306801065944
Option 3 1D : 6306801065945
Option 4 1D : 6306801065946
Status : Answered
Chosen Option : 1
Marks ; 2
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Q.17 Select the appropriate meaning of the given word.
Waiver

Ans X 1. Remove

o 2 Exemption

X 3.Claim
25 4. Sanction
Question Type : MCQ
Questian ID : 630680280672
Option 110 ; 6306801090924
Option 2 1D ; 6306801090926
Option 3 1D : 6306801090925
Option 4 1D : 6306801090923
Status : Answered
Chosen Qption : 2
Marks : 2
Q.18 Select the most appropriate guestion tag for the given sentence.
He is good at reading people, ______
Ans X 1.does
X 2 did
o 3. 10t
X 4 daesn't
Question Type : MCQ
Question 1D 630680280623
Option 11D : 6306801090728
Option 2 1D : 6306801090729
Option 3 1D ; 6306801090727
Option 4 1D ; 6306801090730
Status ; Answered
Chosen Option ; 3
Marks ; 2
0.19 Select the most appropriate option to substitute the underlined segment in the given
sentence.
| met Meha several years ago.
Ans o 1 had met
75 2. has met
X 3.am meeting
X 4. meet
Question Type : MCQ
Question 1D 630680280745
Option 1 1D : 6306801091218
Option 2 1D : 6306801091215
Option 3 1D : 6306801091216
Option 4 1D : 6306801091217
Status : Answered
Chosen Option : 1
Marks : 2
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0.20 Complete the sentence using the most suitable form of

A: “"Why didn't you go to the movies with them?”

the verb 'leave’.

B: "Well, they before | reached here.”
Ans X 1. left
o 2 had left
X 3. leave
7% 4. leaving
Question Type : MCQ
Question 1D ; 630680274483
Option 11D : 6306801066443
Option 2 1D : 6306801066446
Option 3 1D : 6306801066445
Option 4 1D : 6306801066444
Status : Answered
Chaosen Option : 1
Marks ; 0
Q.21 Select the most appropriate meaning of the given idiom.
Clouds on the horizon
Ans X 1. Being extremely cautious
X 2 Something impossible
2 3. To fail terribly
" 4. Problem that could appear in the future
Question Type : MCQ
Question ID : 630680280653
Option 1 1D ; 6306801090849
Option 2 1D ; 6306801090850
Option 3 1D ; 6306801090848
Option 4 1D ; 6306801090847
Status ; Answered
Chosen Option ; 3
Marks : 0

Q.22 Select the option that expresses the given sentence in active voice.

A notice will have been sent by the town plan authorities to Mr. Smith for vacating the house

by the end of the month.

Ans X 1. The town plan authorities would send a notice to Mr. Smith for vacating the house by

the end of the manth.

25 2. Mr. Smith will have sent a notice to the town plan authorities for vacating the house

by the end of the month,

75 3. Mr. Smith would send a notice to the town plan authorities for vacating the house by

the end of the month.

o 4. The town plan authorities will have sent a notice ta Mr. Smith for vacating the house

by the end of the manth.

Question Type :
Question 1D
Option 11D :
Option 21D
Option 3 1D ;
Option 4 10 ;
Status
Chosen Option ;
Marks

Mmca
630680274441
6306801066277
6306801066276
6306801066278
6306801066275
Answered

4

2
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0.23 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The islands of / the coast are / best for fishing / and water sports.
Ans X 1.the coast are
25 2. best for fishing
25 3.and water sports

o 4. The islands of

Question Type ;
Question 1D
Option 11D :
Option 21D
Option 3 1D :
Option 4 1D

Status

Chosen Option :

0

Marks

McQ
630680252299
630680979176
630680979177
630680979178
630680979175
Answered

1

0.24 Select the correct punctuation mark to fill the blank.
The teacher gave us a difficult assignment ____ we were all struggling to complete it.

Ans 1
X2
”a,
X 4-

Question Type :
Question ID
Option 110 ;
Option 21D ;
Option 31D ;
Option 4 10 ;

Status

Chosen Option ;

0

Marks

MCQ
630680280712
6306801091085
6306801091084
6306801091083
6306801091086
Answered

3

Q.25 Select the most appropriate option to fill in the blank.
Mother warned them not to drive fast, as there was

Ans X 1. little
X 2. mare
X 3.some

o 4. enough

time for the match to start.

Question Type .
Question 1D
Option 11D :
Option 21D :
Option 3 1D :
Option 4 1D ¢

. Answered

Chosen Option :

Marks :

Status

MCQ
630680280656
6306801090859
6306801090861
6306801090860
6306801090862

4
2
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Q.1 wrefterdht st s aeme e anfor geeft uftriues T g gid?

Ans X 1. qUITE R

XK 2 dhumuar
o 3. o wvstt B
X 4. et SarpE
Question Type : MCQ
Question 1D ; 630680275238
Option 1 1D ; 6306801069464
Option 2 1D : 6306801069465
Option 3 1D : 6306801069463
Option 4 1D : 6306801069466
Status : Answered
Chosen Option : 3
Marks : 2
Q.2 wETeiterdht SivmaT i I e a9 E?
Ans X 1. @RI A
o 2 TE S
&K 3. T
X 4 FER A
Question Type : MCQ
Question ID : 630680270527
Option 11D : 6306801051295
Option 2 1D : 6306801051296
Option 3 1D : 6306801051297
Option 4 1D ; 6306801051294
Status ; Answered
Chosen Option : 1
Marks : 0
Q.3 S For adi gizgafad sftmgo &7
Ans X 1.202
X 2205
X 32013
o 42004
Question Type : MCQ
Question ID ; 630680276512
Option 110 6306801074545
Option 2 10 ; 6306801074546
Option 3 1D : 6306801074544
Option 4 1D : 6306801074543
Status : Answered
Chaosen Option : 4
Marks : 2
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Ans X 1. dauuE
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2 3. HfAnsw
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Question Type ;
Question ID
Option 110 ;
Option 2 1D ;
Option 3 1D :
Option 4 1D

Status !

Chosen Option :

Marks

MCQ
630680275885
6306801072052
6306801072051
6306801072053
6306801072054
Answered

4

2

Q.5 1942 =01 VITA B! A ieEeaT g iz T aretertd wtoar anféardt sam
et FeAr?

Ans X 1.g8
K zEe
X 3 gar
o 4 ERIE
Question Type : MCQ
Question 1D 630680270070
Option 110 : 6306801049534
Option 2 1D 6306801049532
Option 3 1D ; 6306801049533
Option 4 1D ; 6306801049531
Status ; Answered
Chosen Option : 4
Marks : 2
0.6 wrAtedhl Famd g geRferdt am?
Ans X 1. g
x 2.7k
25 3. v
o 4, 075
Question Type : MCQ
Question D ; 630680276564
Option 110 6306801074753
Option 2 1D : 6306801074754
Option 3 1D : 6306801074751
Option 4 1D : 6306801074752
Status : Answered

Chosen Option :
Marks :

3
0
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Q.7 JFEE 2023 A, FEEgEt geeETea (Enforcement Directorate) 5+t sifsfiren deema

#hture weaed RRY som=m (direct selling) Sa-ftsh 36 ¥ @ nsfi
Ans X 1. digi (AVON)
75 2. 3 (AMWAY)
o 3. fEEr (Vihaan)
25 47T (NET)

Question Type ;
Question ID
Option 110 ;
Option 2 1D ;
Option 3 1D :
Option 4 1D

Status !

Chosen Option :

Marks

MCQ
630680275612
6306801070962
6306801070961
6306801070959
6306801070960
Answered

1

1]

0.8 wEed Fiod fuE 2 'S §EE H@ReT a1 Seeaad sataeiia guiE wea?
Ans X 1. TTETEET ST ANTEATS] SETES HIE AL alT
75 2. T AR ST wEE g e

75 3. 217 AR G &1 ShiAT HH R dherage weial T R o Al

o 4. 87 AmETE TR S Ehi T e S e Apdta v e i

Question Type :
Question ID
Option 11D :
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status ;

Chosen Option :

Marks ;

McCQ
630680275861
6306801071957
6306801071955
6306801071958
6306801071956
Answered

Z

1]

0.9 When a red (RR) flower plant is crossed with a white (WW) flower plant, all the offspring

exhibit pink flowers, suggesting that the red and white gene are:
Ans X 1.codominant

X 2 recessive
# 3. incomplete dominance

2 4. mutant

Question Type :
Question 1D ;
Option 11D ;
Option 210 ;
Option 3 1D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680276552
6306801074704
6306801074706
6306801074703
6306801074705
Answered

1

1]
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Q.10 Shegt v mfReft gt arow qoa mfRd smges o Frgeht deft o, e wien adae

TR T ST A .
Ans X 1.8ad
X2eTd
X a4ad
4 5
Question Type ; MCQ
Question 1D ; 630680275259
Option 1 1D : 6306801069547
Option 2 1D ; 6306801069548
Option 3 1D : 6306801069550
Option 4 1D : 6306801069549
Status : Answered
Chosen Option : 4
Marks : 2
Q.11 2011 =0 FNUHFTHR, IV dganfaa nEane watfies & ot gia?
Ans X 1. 7EEMT
o 2 T
75 3. A it Pl 32
> 4. e
Question Type : MCQ
Question ID : 630680270552
Option 11D : 6306801051397
Option 2 1D : 6306801051396
Option 3 1D ; 6306801051394
Option 4 1D ; 6306801051395
Status ; Answered
Chosen Option ; 2
Marks ; 2
Q.12 aifaehar 2022 wed, dauer= G4 St o=t St T e aEE e e
Ans X 1.
25 2 guimEa
X 3.faEm
o 4. T
Question Type : MCQ
Question 1D 630680275588
Option 110 6306801070866
Option 2 1D ; 6306801070864
Option 3 10 : 6306801070863
Option 4 1D : 6306801070865
Status : Answered

Chosen Option :
Marks :

1
1]
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Q.13 5y 023 0, e i wifeveht frarel (cm) 3 7 oot S s ¢ dediay i sradten smare wfie 3,

Ans

T SFaTerd cPR B e IOl gl G e e g

X 1.40
X230
337
XK 415

Question Type :
Question 1D
Option 110,

Option 2 1D

McQ
630680278287
6306801081508

: 6306801081506
Option 3 1D ;
Option 41D

Status

Chosen Option :

Marks

6306801081507
6306801081505
Answered

1

0

Q.14 ARATR arereE! ‘T dar-use aaera St f wide F-amnie FEE e o R

Ans

o 1. 25 e & 23 e 2022

X 2. 21 Agew | 20 e 2022
75 315 g A 13 R 2022
25 4. 05 =k A 03 R 2022

() wg o eenaita |d aeaia/daanted giaid ge W diate wguE aratter
el Tieh,

Question Type :

Question ID
: 6306801070812
. 6306801070814
Option 3 1D ;
Option 4 1D ;
; Answered

Option 11D
Option 21D

Status

Chosen Option :
Marks

McQ
630680275575

6306801070813

6306801070811

1
2

Q.15 anfifegem g Hutfia gein 10 a2 arufas feno gRoaren sfer smam st

Ans

aifree 2022 7w T% dhotedn gloT=t AT 1 HR?

X 1, The s vegde
25 2. T TEgEha
X 3. gogeR S i
o 4 EEw

Question Type :
Question ID
Option 11D :

Option 2 1D
Option 3 1D

MCcQ
630680275624
6306801071009

. 6306801071010
6306801071007
Option 4 1D
Status :
Chosen Qption :
Marks :

6306801071008
Answered

4

2
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Q.16 feRdrmang #gan, &. &. d=m anfor agd= doash o=t wr=gd swearde anferdd woen

Ans

wolf TEemaen et g

o 1. T iR s

X 2. fafes #fgs e
2 3. de it smifRee
25 4. wer Aftss st

Question Type ;
Question ID
Option 110 ;
Option 2 1D ;
Option 3 1D :
Option 4 1D

Status !

Chosen Option :

Marks

MCQ
630680270075
6306801049552
6306801049551
6306801049554
6306801049553
Answered

4

1]

Q.17 Erefierdht sivmean da=1 Sfor Weaia See Teae-teT RO ST SR STeET
ATEt?

Ans

75 1. T

25 2. qreamd i anfoy geeETew

o 3. dauHE
X A T

Question Type :
Question ID

. 6306801071853
Option 2 1D
Option 3 10
Option 4 10 ;
Status
Chosen Option :
Marks :

Option 1 1D

MCQ
630680275835

6306801071854
6306801071851
6306801071852
Answered

3

2

0.18 @refierthT stordt a1 momt & aaa ot Tl sraea?

Ans

X1 e
X 2.9
o 3a
X 43T

Question Type ;
Question ID
Option 110
Option 21D
Option 3 1D :
Option 4 1D ¢

Status

Chosen Option :

Marks

MCcQ
630680275779
6306801071628
6306801071629
6306801071630
6306801071627
Answered

1

0
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Q.19 =nefriht sntora afgen wriwd aprem afieren gemdT deum=a YA s

T wedt (NGO) AT et amd?
Ans o 1 gt dEn
7 2. g
X 3. aurt Hgp
X 4. I o
Question Type ; MCQ
Question ID : 630680275219
Option 1 1D : 6306801069387
Option 2 1D : 6306801069388
Option 3 1D : 6306801069389
Option 4 1D : 6306801069390
Status : Answered
Chosen Option : 1
Marks : 2
Q.20 wu fRFraeTar @z 70 weneft w@&fis srg?
Ans X 1. AT SrEaETE e T
5 2. OGS SRR AiGuT e
o 3. HRAT Gzasfl A Hep e e w we
X 4. 7l e Fiaof ufrm
Question Type : MCQ
Question ID : 630680275862
Option 1 1D : 6306801071961
Option 2 1D : 6306801071962
Option 3 1D ; 6306801071960
Option 4 1D ; 6306801071959
Status ; Answered
Chosen Option ; 2
Marks : 0

0.21 The process initiated by amylases in saliva leads to the breakdown of carbohydrates into

Ans X 1.nucleic acids
X 2 nucleotides
o 3. simple sugars
25 4. fatty acids

Option 2 1D

Question Type :
Question 1D ;
Option 11D ;

MCQ
630680270160
6306801049892

;6306801049891
Option 3 1D :
Option 4 1D :

Status :

Chosen Option :

Marks :

6306801049893
6306801049894
Answered

3

2
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0.22 SERT 2023 e, STl 3w WRard e Tafa stear admon=an & IZTed Fvard

AT,
Ans X 1.@e=
X 2 dturh
X 3. =t e Edw
o 4 TR T

Question Type ;
Question ID
Option 110 ;
Option 2 1D ;
Option 3 1D :
Option 4 1D

Status !

Chosen Option :

Marks

MCQ
630680278294
6306801081533
6306801081536
6306801081534
6306801081535
Answered

4

2

Q.23 wrefierdeht shtore ot e AfmEsTte aewt Pt vramst dded oifw we
(Secretary of State for India) T wuw= FRvaTa e gi+Ht?

Ans 1, 1858
X 21935
< 3 1859
X 41857

Question Type :
Question ID
Option 11D :
Option 2 1D
Option 3 10
Option 4 10 ;

Status

Chosen Option :

Marks :

mca
630680270060
6306801049492
6306801049424
6306801049493
6306801049491
Answered

4

1]

0.24 wrgardl A% 1. werare g ettt o et wmeen S e
Ans X 1. HZTH HESH 691

X 2. ffteg wa

o 3. AwEr vRa |

X 4, AR

Question Type ;
Question ID
Option 110
Option 21D
Option 3 1D :
Option 4 1D ¢

Status

Chosen Option :

Marks

MCcQ
630680270082
6306801049580
6306801049582
6306801049579
6306801049581
Answered

3

2

FB/IG/TG @mpscmaterial www.mpscmaterial.com

CF scanned with OKEN Scanner



Q.25 =efterieht sntora afgen g ard-2023 g BBC Wiemie qrenr-2022 e

Ans X 1. oy Rt
X 2 dd am
X 3. g, i wm
o A ol Ram

Question Type ;
Question 1D
Option 11D ;

Option 2 1D

mca
630680270035
6306801049392

. 6306801049393
Option 3 1D :
Option 4 1D

Status :

Chosen Option :

Marks :

6306801049394
6306801049391
Answered

1

1]

Section - General Intelligence

Q.1 g fafie aeniger ‘Zys' 8 'UT15 off wefi g, mmamerr, ‘ML20° § 'HG30" oft Heifir amg.

T AT HETO e, 'RQ4A0’ § wefterdeh samaft wafie omg?

Ans X 1.LM50
o 2 ML50
X 3. MN45
X 4. MK45

Question Type :
Question ID
Option 110 ;

Option 2 1D

MCQ
630680271614
6306801055529

. 6306801055531
Option 31D ;
Option 4 10 ;

Status

Chosen Option ;

Marks :

6306801055528
6306801055530
Answered

2

Z

Q.2 it fafire ger el ddafta st s st Retear snda. arefite adhr f=

SrEETEE W AgHEy Mg ST s i U e @R Bl | T o SHoT

STt Fhordt amE?

(ar arsatn srdqul Aerdt e At ST i erTeter Sten/ s gt deda st wis

T2 OTE WS i)

Ans X 1. STiTemaTE RO ATR
25 2. gTeTETe RE; O

X 3. =mEt: Z
o 4, T ; i)

Question Type :
Question ID
Option 110 :
Option 21D ;
Option 3 1D
Option 4 10 ;

Status :

Chosen Option

Marks

Mca
630680271636
6306801055618
6306801055616
6306801055619
6306801055617
Answered

1

1]
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Q.3 usw smmfores Rdsar e are g frden R sreoran g st oig @it g ameat
anfor wmE wE 20% 7o gat. o Reehirard, @t R i g ot

Ans X 1.7855gm
25 2.708,06 gm
" 3. B33.33 gm

25 4.750.5gm

Question Type ;
Question ID
Option 110 ;
Option 2 1D ;
Option 3 1D :
Option 4 1D

Status !

Chosen Option :

Marks

MCQ
630680287155
6306801116530
6306801116528
6306801116529
6306801116527
Answered

2

1]

Q.4 sERTTEE @ee TR wteaitdt = wtem g fafie a2 e s anft amnge mir o
TIE FOR gAY, T e A aHTE sere s R

Ans X 1.PT-0S
o 2 YC-RY
2 3 JdN-IM
25 4 AE-ZD

Question Type :
Question ID
Option 11D :
Option 2 1D
Option 3 10
Option 4 10 ;

Status

Chosen Option :

Marks :

Mca
630680277532
6306801078577
6306801078578
6306801078580
6306801078579
Answered

2

2

Q.5 =R+ 7'~ gl ergerags et onfir «' 7 '+ ot aresTasa dh, aw arde oo 7 =
it @ e
520x%23-89+12+0=7

Ans X 1.8
X 214

o34
X 44

Question Type ;
Question 1D ;
Option 11D
Option 21D :
Option 3 1D
Option 4 10

Status
Chosen Option :
Marks ;

MCQ
630680277151
6306801077098
6306801077099
6306801077097
6306801077100
Answered

3

2
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0.6 e mfedsa 7 = smft @ arger #4472

8,10, 14, 20, 30, 44,7, 90

Ans X 1.62
X 266
o 364
X 4.68
Question Type : MCQ
Question 1D ; 630680277034
Option 110 ; 6306801076630
Option 2 1D : 6306801076632
Option 3 1D : 6306801076631
Option 4 1D : 6306801076629
Status : Answered
Chosen Option : 3
Marks : 2
Q.7 =TT SEETRE MU e, STET 15% &3+ 2 auld eh axiiden taene 398,494 vadl gid. wie
TS TOTT AT Fie 3, % T (T [T &4 ST wry ererrarte el 30 Teenn (T
weit) fomelt arder?
Ans X 1.96578
o 2 97865
> 397685
X 4.96785
Question Type : MCQ
Question 1D 630680287213
Option 110 ; 6306801116760
Option 2 1D ; 6306801116762
Option 3 1D ; 6306801116761
Option 4 10 ; 6306801116759
Status ; Answered
Chosen Option : 1
Marks : 0
Q.8 g dfrmed grht 500 ml ard=an 4 A areen, g 625 mi arad=m § Fresar atewmn, anfor
TRt 750 ml grera 3 fRvem areea anda. dfmidier wf arceai=h ggor eran et
Ans 2 1.7.3751
X 277510
X 3.7.275L
X 4.7.475L
Question Type : MCQ
Question 1D 630680277274
Option 110 : 6306801077547
Option 2 10 : 6306801077545
Option 3 1D : 6306801077546
Option 4 1D : 6306801077548
Status : Answered
Chosen Option ; 1
Marks ; 2
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0.9 e asr-Tgpta Atded srTsteET dEuTETO TaE ey gaffomr aar-ahg REen
uafaiga P
BRH : HXN
XNE : DTK
Ans X 1.LAC:RGH
o 2. XDW: DJC
25 3.NAT: SGZ
25 4. 5PA I XVG

Question Type : MCQ
Question 1D : 630680272708
Option 1 1D : 6306801059393
Option 2 1D : 6306801059394
Option 3 1D : 6306801059391
Option 4 1D : 6306801059392
Status : Answered
Chosen Option ; 2
Marks : 2

Q.10 s, dwe, g s et mfeda w2 e anfor wend 3w an. Atoft &t s
bipicrekmciprlnicn gl
{ITi]IEV?%Fd@ED&‘ZK:-C#BPSt*W(Tﬁ!i]

o Mt ad A e A, v iR s sorflega amd adee

Ans X 1.2
X 20
5 3.6
o4 X

Question Type : MCQ
Question ID ; 630680272679
Option 1 1D ; 6306801059276
Option 2 1D : 6306801059277
Option 3 1D : 6306801059275
Option 4 1D : 6306801059278
Status : Answered
Chosen Option : 4
Marks : 2

0.11 e R anfor Pt sergds arm. Rumied e migd & ammagot s auidsh
et srEeuTe atEwm, a4 it e ong ot e uee, e Frera S whoyd Pt
mf&ﬂﬁhﬁﬁﬁmaﬁﬂnﬂﬂim,
gl e, aveg AATET. SRTET aTeg, AT HIRA. W lEt, AEE WEd.

Forezped 1: =t g, T amEA.
Foreered 2: weRl TTger, S A

Ans X 1. dha= Fremd 2 adea and,
o 2. s Preed 1w amd
25 3.1 v 2 8 st Freand aefma st
25 4.1 T 2 Gy waegt P v A,

Question Type : MCQ
Question ID ; 630680276997
Option 1 1D ; 6306801076482
Option 2 1D ; 6306801076481
Option 3 1D ; 6306801076484
Option 4 1D : 6306801076483
Status | Answered
Chosen Option : 2
Marks : 2
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Q.12 A, B anfon C o1 <= dtean srgeed 30 e, 20 Affem anftr 10 B g faed zefr
quigut ¥+ armamE. eRft e s, o fasd dem ageem omamE. A, B anffvc @

dteaiay sgerdt B Q anfor R & aramafiies aradt dhadlt srara. v 3 Mfetsae adfidter mammad

aTeror R 2 wremor Bt amd?
Ans 1. 6/11
Kot
X 3.8
X 4.5/
Question Type : MCQ
Question 1D ; 630680287465
Option 110 : 6306801117768
Option 2 1D : 6306801117769
Option 3 1D : 6306801117770
Option 4 1D : 6306801117767
Status : Answered
Chosen Option : 1
Marks : 2
Q.13 The arithmetic mean of 22.5, 56, 42.5, 2x + 1, x - 2, 3x, 36i5 30. Find x = 0.
Ans 1.0
>x27
>34
X 46
Question Type : MCQ
Question ID . 630680277289
Option 1 1D ; 6306801077606
Option 2 1D ; 6306801077605
Option 3 10 ; 6306801077607
Option 4 1D : 6306801077608
Status ; Answered
Chosen Option ; 1
Marks : 2
Q.14 Fusht avimamr smufia Reea sifedha wefRmgrn (7) wrft @ g gd?
CAXT?
Ans 1.0
Nzq
XKam
X 4P
Question Type : MCQ
Question ID : 630680272742
Option 11D : 6306801059528
Option 2 1D : 6306801059530
Option 3 1D : 6306801059527
Option 4 1D : 6306801059529
Status : Answered
Chosen Option ; 1
Marks ; 2
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Q.15 =f=dt anfor A= aven searan of vara d=t g e, Sarar sern af duer 6:30 aerE
g oy A== A= 45 AR ameft gqof e, S=0= fa gearan aof Bl asmrn qof Fare

Ans X 1. Heres 5:25 FreEdr
X 2. weareRTed) 5:55 FTeT
25 3. Heremss! 5:35 e .

’ &, TS 5:45 aTer

Question Type ; MCQ
Question 1D ; 630680277281
Option 11D ; 6306801077573
Option 2 1D ; 6306801077576
Option 3 1D : 6306801077574
Option 4 1D : 6306801077575
Status : Answered
Chosen Option : 4
Marks : 2
0.16 et arivres adewa quf sevarardt ? @ st @ aner ga?
J4A, S5E, 7, K390, T160U
Ans X 1.D12
o 2 B12I
X 3.B14I
X 4.014
Question Type : MCQ
Question ID : 630680277028
Option 1 1D ; 6306801076605
Option 2 1D ; 6306801076608
Option 3 1D ; 6306801076606
Option 4 1D : 6306801076607
Status | Answered
Chosen Option ; 2
Marks : 2
Q.17 R R anfor Pred @argde aran. Reh fRrad # amr=aot sma aurdeft Skt sreard
e, 78 @t e and o it ae, Premaftt st d Reen Rrarsih ada amdy
Sgd & &
farurs : wd Suet, ST M.
wd Alads, TEEE g
foreered (1): ST SIEEE, FTUTR R,
et (11): = wiemdm, Foei amga.
Ans X 1. Frsmd () fRar Frend (1) GeR gergt T AT
75 2 Ferd (1) anfor (1) & 2= adfima anda
X 3. e Prerd (1) Sk ang.
4, deres Foreemed (1) e ok
Question Type : MCQ
Question ID : 630680272670
Option 110 : 6306801059241
Option 2 1D ; 6306801059242
Option 3 1D ; 6306801059240
Option 4 1D ; 6306801059239
Status ;: Answered
Chosen Option ; 4
Marks ; 2
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Q.18 F= feremm a=raTgE 3 kmy/h 3 aTera T, e arsfiaEaren ardfan 20 R afin oigs.
ar faet foram 3 4 kb o S e, 72 At 30 AR T ol el e aw anfy

aefaara arélR fwmor aferewae ofaw R amd?

Ans X 1.9km
X 2. 7km
X 3.4km
o 4. 10km

Question Type ;
Question 1D

;. 6306801117549
- 6306801117548
Option 3 1D :
Option 4 1D
Status !

Chaosen Option :
Marks :

Option 11D
Option 2 1D

McQ
630680287410

6306801117547
6306801117550
Answered

2

0

Q.19 Tt anfor F9R g1 ISR T S SR T TR 32 T 2T SHUTHTE] 6 AT
ST, 92 TR 40 9T 2140 FogrTaT 5 d16 @rrard. 110 9! s#rg-ie ady seoare

Ans X 1. 825 @fe

X raam
75 3.7 ara 30 fafee
o 4 8 a5 AR

Question Type :
Questian ID ;

. 6306801117750
- 6306801117748
Option 3 1D
Option 4 1D ;
Status
Chosen Option :
Marks :

Option 11D
Option 21D

Mca
630680287460

6306801117747
6306801117749
Answered

1

1]

Q.20 &R qwarE ge g Stedatdn 37 15 km/h s ot memgrean g 30 km 2 sfaw s anft

T 4 are 30 e o 449, @€ wargsn 30 (km/h A Bt amd?

Ans X 1.8
Xz4

35
2410

Question Type :
Question 1D
Option 11D :

Option 21D
Option 3 1D

MCQ
630680287438
6306801117661

. 6306801117659
6306801117660
Option 4 1D :
Status
Chosen Option ;
Marks ;

6306801117662
Answered

4

0
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Q.21 U gEEET 12 3% ot ¥5 ufey off on 2w wdt dhelt. warere g 12 ot et
gdfea ot/ ¥6 nfa o zwrt Freelt. warht srorarelt eahamdt aften.

Ans X 1.15%
X 2.5%
o 3 10%
X 4.20%
Question Type ; MCQ
Question 1D 630680287163
Option 11D : 6306801116562
Option 2 1D ; 6306801116559
Option 3 1D : 6306801116560
Option 4 1D : 6306801116561
Status : Answered
Chosen Option : 3
Marks : 2
0.22 wiEaT: 60+ 5% (16=-822) + 3.
Ans X 1,52
" 2 48
X345
X 4.50
Question Type : MCQ
Question ID : 630680277235
Option 11D : 6306801077392
Option 2 1D : 6306801077391
Option 3 1D ; 6306801077390
Option 4 1D ; 6306801077389
Status ; Answered
Chosen Option ; 2
Marks ; 2

OB TS 20% &I 218,000 YhHAS SOl A T0FT Pt 22
aufardt BIUIR ghale o (z 94 fhdt Sme?

Ans "1 1108
X 21818
X 3.13,084
X 4.13,104

Question Type ;
Question 1D
Option 11D :
Option 21D ¢
Option 3 1D :
Option 4 1D :

Status

Chosen Option ;

Marks ;

McQ
630680287211
6306801116753
6306801116754
6306801116752
6306801116751
Answered

2

1]
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0.24 feeh mferem adeem quf srvraradt ? = sl @ et orfgt?

D2W, G3T, J5Q, M7N, ?
Ans 1. P1IK

X 2. POK
X 3011
X 4.08)
Question Type : MCQ
Question ID : 630680272772
Option 110 ; 6306801059648
Option 2 1D : 6306801059650
Option 3 1D : 5306801059649
Option 4 1D : 6306801059647
Status : Answered
Chosen Option : 1
Marks : 2
0.25 Ry aifeeha 7 o st @ T ga7?
1,8,16,32,75,182,7
Ans 1. 414
X 254
X 3.514
X 444
Question Type : MCQ
Question ID : 630680277037
Option 1 1D ; 6306801076642
Option 2 1D ; 6306801076644
Option 2 1D : 6306801076643
Option 4 1D ; 6306801076641
Status ; Answered
Chosen Option : 3
Marks : 0
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